TOIGUSMATH

www.miguemath.com

DOMINIO DE UNA FUNCION

PRACTICA
| PARTE. Encuentre el dominio de las siguientes funciones:

1) flx)=x*>-4 16) f(x) =VxZ—25
2) flx)=3x>-2 17) f(x) =Vx2—-5x—6
3) flx)=— 18) f(x) =V36 —x2
4 fa=2 19) f(x) =V9 + 2
5) f(x) = 20) f(x)=Vx—1
6) f(x)_xz . 21) f(x) =Vx—5

22) f(x) ==
7) f( ) - -7x+10’

23) f(x) =

8) f()= 5—

24) f(x) = 7=

9 f(¥) ==

10) f@) =570 25) f(0) = 25

11) £(®) =x31_x 26) f(x) = \/E

12) f() =Vx+1 27) f(x) = log(3x + 6)
13) f(x) =Vx—6 28) f(x) = In(5 — 2x)

14) f(x) =vV2—x
15) f(x) =v12 —3x

29) £(x) = log (i)

30) f(x) =In(3 + 2x —x?)
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17)
18)
19)
20)
21)
22)

23)

24)

25)

26)

27)
28)
29)

30)

f(x) =+vx?% —5x — 6(—00, —1]U[6, )

f() = V36 =2
fG) =NI+<
fG)=Vx—1
fG)=Yx=5
f@) =75
f0) =55
fG) =5

fo = [
fo = [

[=6,6]
(=0, )
(=00, )
[5, %)
(2,0)
(=,3)

{x e R/x # =2}

(—oc0, —4]U(3, )

)

f(x) =log(3x + 6) (—2,)

fO)=mE-20) (—,2)

fG) = 10g(3)

f(x) =In(B + 2x — x%)

SOLUCIONES:

| PARTE. Encuentre el dominio de las siguientes funciones:
1) f)=x>-4 (=00, )

2) f@)=32"-2 (~o0,)

3 f=2; {x e R/x # -3}

4 fn== {x € R/x # 5}

5)  f()=—r {x € R/x # +4}

6) f)=2S— {x € R/x # 0,x # 5}
7 f®) =5 {(x€R/x#2,x%5)
8) f)=:— {(x € R/x # %5}

9  fl0) == (0, 00)

10) f(x)=:3-— {x€R/x*-5x%0}
11) f(t) = 5— {x € R/x # +1,x # 0}
12) f)=vx+1  [-1,)

13) f@)=Vvx—6  [6,%)

14) f@)=v2Z—x  (~,2]

15) f(x)=vV12-3x (-,4]

16) f(x) =Vx2 =25 (—o0,—5]U[5,0)

(0, 0)

(=13)




